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EfL  [E% oUT IN JBA __ HDCP s Ef K& OUT IN JHA___ HDCP Fy bk
| fi|EE ik 40 40 80 9.6 70. 4 BI fi | Mk AZEF 51 58 109 32.4 76.6
2 i [ &g kA 43 41 84 13.2 70.8 82 fi |t ZEE i 46 90 13.2 76.8
0| EE F— 39 37 76 4.8 71.2 B3 fif |FEH == 45 44 89 12.0 77.0
4 fi|FE@ & 44 42 86 14.4 71.6 B4 fif | 4R A 51 50 101 240 77.0
5 5 &5 39 41 80 8.4 71.6 85 fi | ik A& 54 47 101 24.0 77.0
6 fi ¥ @A 45 46 91 19.2 71.8 86 _fir | WE 7% 48 46 94 16. 8 7.2
IRAEEEE 44 41 85 13.2 71.8 87 {1 |hf FE 53 53 106 28. 8 7.2
8 fi|&F BB 41 43 84 12.0 72.0 88 fi |HFO B 49 51 100 22.8 71.2
9 i [hiR %E 41 37 78 6.0 72.0 89 {1 B8 & 51 48 99 21.6 77.4
10 7 | &L Bk 47 37 84 12.0 72.0 90 {1 |5 =F58 48 51 99 21.6 77.4
1 ff [ AR B 43 45 88 15.6 72.4 91 fi |%E4E % 45 4 86 8.4 77.6
12 7 L0 F0k 49 51 100 21.6 2.4 92 fir |chig # 46 46 92 14.4 77.6
13 fi |48 Filt 46 40 86 13.2 72.8 AR 52 52 104 26.4 77.6
14 f | =5 Al 43 43 86 13.2 72. 8 94 i [BIL =¥ 48 43 91 2.2 77.8
15 { | F8 E—0 44 47 91 18.0 73.0 95 f | g =R 56 53 109 31.2 71.8
16 1 [mk #E 50 47 97 24.0 73.0 9% fi|=A —3 55 53 108 30.0 78.0
17 41 |5 £F 47 49 96 22.8 73.2 97 i | HIF BAR 51 51 102 24.0 78.0
18 i [BiR 17 44 46 90 16.8 73.2 98 {1 |®#* EE 48 54 102 24.0 78.0
19 {u [EH Bl 49 47 96 22.8 73.2 99 f1 | EiR = 42 46 88 9.6 78.4
20 f1 5% &A1 45 45 90 16.8 73.2 100 7 [ 7aF 51 61 112 33.6 78.4
21 1 |&£F ELF 47 48 95 21.6 73.4 101 fi|=F ER 53 47 100 21.6 78.4
2 fi|hE BE 46 49 95 21.6 73.4 102 f [Tl #has 55 57 112 33.6 78.4
23 fu [#a# STk 47 53 100 26.4 73.6 103 fi | S 55 51 106 21.6 78.4
24 11 [E = 48 52 100 26.4 73.6 104 & [ /1] 3% 49 51 100 21.6 78.4
25 f | ftHE AHT 48 52_ 100 26.4 73.6 105 fif | X% #iT 51 48 99 20. 4 78.6
26 7 |80 #%x 44 50 94 20.4 73.6 106 i | XIE BAF 49 50 99 20_4 786
27 i [#l FH 51 49 100 26. 4 73.6 107 fi | M@ BT 56 55 11 32.4 78.6
28 1 [FE mEp 45 42 87 13.2 73.8 108 f1|&HT 18 44 54 98 19.2 78.8
TEAEEE 47 46 93 19.2 73.8 109 fi [/hiF Bk 58 52 110 31.2 78.8
30 | hE B 45 41 86 12.0 74.0 10 i [ EA &= 53 56 109 30.0 79.0
I | ER BE 46 46 92 18.0 74.0 111 {7 | B4R BSE 49 48 97 18.0 79.0
32 {1 |FN — 46 40 86 12.0 74.0 12 fi|%8 %S 46 45 91 12.0 79.0
33 {1 |7 tEE 42 44 86 12.0 74.0 13 {1 | BB & 55 47 102 22.8 79.2
34 {7 | BEA 47 50 97 22.8 74.2 14 i | HE =2 61 53 114 34.8 79.2
35 41| Mg H— 46 44 90 15.6 74.4 IERAFGE 54 53 107 27.6 79.4
36 £ [EF ®E 47 54 101 26. 4 74.6 116 fi | AZE BE& 49 52 101 21.6 79.4
37 i [#A 3h 52 49 101 26.4 74.6 117 {2 |mE fx 51 61 112 32.4 79.6
38 | mE =28 46 43 89 14.4 74.6 18 fi|[5E BF 52 53 105 25.2 79.8
39 7 | KB B 46 49 95 20. 4 74.6 119 fi [ i &F 57 47 104 24.0 80.0
A0 5| EH 2B 46 42 88 13.2 74.8 120 £z | B pe— 48 43 91 10.8 80.2
41 i (8B —mk 53 53 106 3[.2 74.8 121 fiz [ch)i| EBR 54 54 108 21.6 80.4
2 Es —B 49 44 93 18.0 75.0 122 1 | 5% kil 50 57 107 26.4 80.6
43 1 [T f5— 50 49 99 24.0 75.0 123 i | ofE #= 50 62 112 31.2 80.8
44 {7 [$5K EGh 45 47 92 16.8 75.2 124 [ @A 5% 56 55 111 30.0 81.0
45 1 [R)I —3F 46 46 92 16.8 75.2 125 fi [ 2 )| & 46 53 99 18.0 81.0
46 i | =M KB 52 52 104 28.8 75.2 126 i [#hiR LOA 51 54 105 24.0 81.0
47 | Bx 4] 45 92 16.8 75.2 127 fi it BE 54 51 105 24.0 81.0
18 1 | K5 18 45 47 92 16. 8 75.2 128 41 | kAR EF 52 52 104 22.8 81.2
49 {1 |FE BE 45 47 92 16.8 75.2 129 7 |%ME Mk 47 50 97 15.6 81.4
50 fiz [#E1L S 47 45 92 16.8 75.2 130 fi [ A EhF 59 50 109 27.6 81.4
51 fi [t == 45 53 98 22.8 75.2 131 4 [#E =T 60 54 114 32.4 81.6
52 fif | KA % 51 52 103 27.6 75.4 132 4 | @& SCAR 50 51 101 19.2 81.8
53 i | B8 18 55 48 103 27.6 75. 4 133 44 | £@ &% 50 50 100 18.0 82.0
54 i |80 HF 50 53 103 27.6 75.4 134 41 |28 =5 58 53 111 28.8 82.2
55 i | %M@ 52 44 06 20.4 75. 6 135 {i [#RiE Stk 53 62 115 32.4 82.6
56 {7 | E3 ik 49 53 102 26.4 75.6 136 fu [=F i 56 59 115 32.4 82.6
57 5 [{EAA B2 54 48 102 26. 4 75.6 137 fiz | ch)Il ETER 48 59 107 24.0 83.0
58 {1 |MAE X 49 46 95 19.2 75.8 138 fii [ BiE B 51 61 112 28.8 83.2
50 fi |4 EER 53 48 101 25.2 75.8 HEAECE 50 55 105 21.6 83.4
60 fi |&Fm@ =17 48 41 89 13.2 75. 8 140 67 |1k BF 55 55 110 26.4 83.6
61 {7 |#EM ESB 51 50 101 25.2 75.8 141 /N8 EX 57 52 109 25.2 83.8
62 fif |#kBk ME 49 52 101 25.2 75.8 142 {7 R = 61 52 113 28.8 84.2
63 % |H0 B& 46 48 94 18.0 76.0 143 {7 [ kil BF 52 54 106 21.6 84.4
64 i |[Bh EE 48 52 100 24.0 76.0 144 fi7 [B8 O 2 48 57 105 20.4 84.6
65 {1 [4E)Il A 53 46 99 22.8 76.2 145 f [ F BE 57 58 115 30.0 85.0
66 fif | & =% 48 45 93 16.8 76.2 146 {7 | FH 8% 54 60 114 28.8 85.2
67 fir | FE &R 49 44 93 16.8 76.2 147 f7 | B4t ER 59 53 112 26. 4 85.6
68 fif |hit 288 45 54 99 22.8 76.2 148 fi | R4 ST 56 65 121 34.8 86.2
69 fi | =& &b 54 56 110 33.6 76. 4 149 fi [& E2F 59 56 115 28.8 86.2
70 fir |8RU8 3h 48 50 08 21.6 76.4 150 61 [#1l 8F 54 59 113 26. 4 86. 6
7 f |23 E— 46 46 92 15.6 76.4 151 fir | % ®F 58 65 123 36.0 87.0
72 (|58 fiF 55 49 104 21.6 76.4 152 fir | KAk &HE 66 57 123 36.0 87.0
73 fi |mB A 48 44 92 15.6 76.4 153 i |chRl E£H/F 54 70 124 36.0 88.0
74 i |EB #ih 56 53 109 32.4 76.6 154 i | @R fEF 69 58 T 36.0 91.0
75 fi [MBF fl— 50 53 103 26.4 76.6 155 fif |tk 2 A WF 68 62 130 36.0 94.0
A EE 46 45 91 14.4 76.6
77 fi|gk BB 43 54 97 20.4 76.6
78 & |k ZETF 54 49 103 26. 4 76.6
719 i |1BA ik 52 51 103 26.4 76.6
80 Bz | =# —th 50 47 97 20.4 76.6




